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Comprehension MCQ

Choose the correct statements from the following:

A. The total charge in any isolated system remains constant.
B. When some charge is transferred to a conductor, its stays at the same place without getting distributed
over the entire surface.

C. One Coulomb of negative charge is the total charge of 6.25 x 108 clectrons.
D. Electric field is a scalar field.
E. Permanent dipole means that the dipole moment p exists irrespective of external electric field E

Choose the correct answer from the options given below:

1.B.C.D and E only
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.A.D and E onnly
3.Band D only

4. A. Cand E only

Options :

485584157861. 1
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485584157864. 4

Question Number : 921 Question Id : 48558439466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ



Free Hand

Free Hand


s @ff e 7w [Rfeafe oam FF.

A, (T (FI=e Fiead STery (06 o e ans|

B. YW (SR 51 (FH8 FFNRTS FAISHO 2H. O4F 46 A GG ({07 W FF JF2
GRS A |

C. (A5 BIUGE JH(0 FeT8 e 6.25 « 1018 ZEFEHT (6 B

D. Jos CFm AF0 (Feld GFal

E. Z[A GIEU W | 20 (pfos ova MR SR meofiay= p

SItE e [egefe (rF 50 F bedt bay S8
1.B.C.D 9B E
2.A.D EJ2E
3. ®YB LD
4. WY A CIRE

Options :

485584157861. 1
485584157862. 2
485584157863. 3
485584157864. 4

Question Number : 922 Question Id : 48558439467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct alternative from the following:

1. Gauss law is true for any open surface.

[ o]

. Gauss law includes the sum of all charges enclosed by the surface for caleulation of electric flux through
the surface.

3. Gauss law can be used to calculate the magnetic field due to steady current.

4. Gauss law 18 not based on the inverse square dependence on distance contained in the Coloumb's law.
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Choose the correct answer from the following:

If three charged particles are collinear and are in equilibrium. then:

L. all the charged particles have equal charge.

2. all the charged particles have the same sign and the distances between two consecutive charged particles

arc saimne.

3. all the charged particles have the same sign

4, all the charged particles cannot have the same sign

Options :

485584157869. 1
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An isolated sphere has a capacitance of 60 pF. what is the radius of the sphere?
1. 540 ecm
2.54cm
3.0.054 em

4. 054 cm

Options :

485584157873. 1
485584157874. 2
485584157875. 3
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The electric field intensity due to an infinite thin plane sheet of surface charge density (5 1s:
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Three capacitors of capacitances 3 uF. 6 uF and 12 uF are connected in series. Find potential difference across
a 6 uF capacitor. if a battery of 7 V is connected across this combination:
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Kirchhoff's Second Law is based on law of conservation of:
1. Charge
2. Energy
3. Momentum

4. Mass and Energy

Options :

485584157885. 1
485584157886. 2
485584157887. 3
485584157888. 4
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Identify the graph from the following showing the temperature dependence of resistivity for a typical
semiconductor?

2
Resistivity (p) —

Temperature (T) —>

=
Resistivity (p) —>

Temperature (T) —>

g
Resistivity (p] —=

Temperature (T) —

-
Resistivity (p) —>

Temperature (T) —>
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In a potentiometer arrangement a cell of 1.5 V gives a balance point at 45.0 em length of the wire. If the cell is
replaced by another cell and the balance point shifts to 75.0 cm, what is the emf of the second cell?

1.25V
2,10V
311V
415V
Options :

485584157893. 1
485584157894. 2
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A room heater is rated 750 W, 220 V. An electric bulb rated 200 W, 220 V 18 connected in series with this
heater. What will be the power consumed by the bulb and the heater respectively, when the supply is at 220 V?

1.Pp=1248W.Py=3325W
2. Pp=3325W,Py=1248W
3 Pg=1248 W. Py =1248W

4. Pp=3325W,Py=3325W

Options :

485584157897. 1
485584157898. 2
485584157899. 3
485584157900. 4
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1.Pp=1248 W, Py =3325W
2Pg=3325W, Py =1248W
3. Pg=1248 W, Py =1248W
4. Pp=3325W.Py=3325W

Options :
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A cell of constant emf is first connected to a resistance Ry and then to R,. If power delivered in both cases are

same, then the internal resistance of the cell 1s:

LR R,
2. (R /R,

3. Bylly
2
P
2
Options :
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A uniform magnetic field, parallel to the plane of the paper existed in space initially directed from left to right.
When a bar of soft iron 1s placed i the field parallel to it, the lines of force passing through it will be
represented by:
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To protect galvanometer from possible damages due to large current. which of the following should be
connected to its coil:

1. Low resistance wire in series

2

. High resistance wire in series

[¥¥]

. High resistance wire in parallel

4. Low resistance wire in parallel

Options :

485584157909. 1
485584157910. 2
485584157911. 3
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The charge which is a source of electric field but not of magnetic field is -
1. A charge moving in a straight line
2. A charge static in space having zero speed
3. A charge moving on helical path of pitch

4. A charge oscillating with frequency 'v'

Options :
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There is a thin conducting wire carrying current. The value of magnetic field induction at any point on the
conductor would be:

1. Zero

[E)

. C'onstant
3. Positive
4, Negative

Options :

485584157917. 1
485584157918.2
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The coercivity of a bar magnet is 140 Am™". To demagnetize it. it is placed inside a solenoid of length 1.6 m
and number of turns 112, What is the current flowing through the solenoid?

1.9A

-

225 A

Options :

485584157921. 1
485584157922.2
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Magnetie field| B| ata point P in the following network is:
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Which one out of the following is not an application of eddy currents?
1. Transformers
2. Speedometers
3. Magnetic Brakes

4, Induction furnace

Options :
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In an a.c. circuit, the rms voltage is 10042 V. The peak value of voltage would be:
1.200V
2. 100V
3141V
4.705V

Options :
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485584157936. 4

Question Number : 939 Question Id : 48558439484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

AT STHTB, tms (SIEGG = 10042 V| (OIFEIGRE T N X(1:
1.200V
2.100V
3,141V
4,705V
Options :

485584157933. 1
485584157934. 2



485584157935.3
485584157936. 4

Question Number : 940 Question Id : 48558439485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A square loop of copper wire is pulled through a region of uniform magnetic field as shown. Rank the pulling

forces F 5. Fg. F- and Fpy that must be applied to keep the loop moving with constant speed (f; ) :

P e e e e e e e A
x * x x x x x ® X
| |
FA | = % *® X X xe x o x|
n Fy C 1 F
—— x = * kB x o —> I'p
|
—> X X e X X X
1% vV 1% 1%
|)< x x b x s x x Xl
s A N — -

l'PBzFD‘FAzfc

2'FC}FB=ED}FA

L

R

=

'PD}FB:)F_'-\:EC
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Options :

485584157937. 1
485584157938.2
485584157939.3
485584157940. 4

Question Number : 941 Question Id : 48558439486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the effective impendance in the circuit if the source is a) DC source and b) High frequency AC source

Rs

Source

1.ForDC. Z=R, +Ryand for AC. Z= R{ + R,
2.ForDC.Z=Ryand for AC. Z= R, + R4
3.ForDC.Z=wand for AC.Z=0

4, ForDC, Z=0and for AC, Z =

Options :

485584157941. 1
485584157942.2
485584157943.3
485584157944. 4

Question Number : 941 Question Id : 48558439486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

% GGAIG F) DC TGN 43¢ ¥) OF [ZrIHITHI™ AC TS5 TH Old TMB(6 FITHd AfsImeerl
(impendance ) TR PP

Source

1.ForDC. Z=R, +Ryand for AC. Z= R; +R;
2.ForDC.Z=R,and for AC. Z= R, + R4
3.For DC. Z=xand for AC,Z=0

4, ForDC.Z=0and for AC. Z =

Options :

485584157941. 1
485584157942. 2
485584157943.3
485584157944. 4

Question Number : 942 Question Id : 48558439487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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5 i . v g B
In AC circutts, the relation that holds is 7 :I— where.
¥

A Z=JR+ }(f in cage of a.c. circuif contaming R and L in series,
B.7= ,\fll{z +x? in case of a.c. circuit containing R and C in series.
C.Z= X, — X in case of a.c. circuit containing L and C in series.
D.z-r*+(x, -X.)’ in case of a.c. circuit containing R. L and C in series.

Choose the correct answer from the options given below:
1.A.C.Donly
2.A.B.Conly
3.A.B.Donly

4. A.B.C.D only

Options :

485584157945. 1
485584157946. 2
485584157947. 3
485584157948. 4



Question Number : 942 Question Id : 48558439487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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D. z- R +(x, - x,) APTSSET CHLA R, L 4= ¢ e 10 son|

St (e [Regesfe (AT 50T Sedlb by SP:
1. A, C.D ®3TH
2. A.B. C ®TH
3.A.B.D ®YITq

4, A B.C.D @49

Options :

485584157945. 1
485584157946. 2
485584157947. 3
485584157948. 4

Question Number : 943 Question Id : 48558439488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

When 100 V de 1s applied across a solenoid. a current of 1A flows in it. When 100 V ac is applied across the
same solenoid the current drops to 0.5A. If the frequency of the ac source 1s 50 Hz. the impendance and
inductance of the solenoid are:

1.200 Qand 0.55H

J

100 Q2 and 0.86 H
3.200Qand 1.0H

4,100 Qand 0.93 H

Options :

485584157949. 1
485584157950. 2
485584157951. 3
485584157952. 4

Question Number : 943 Question Id : 48558439488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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|Comprehension [MCQ

TYF AF6 CMEAFENG TG 100 V BT AT TR T, T 409 1 A 47 4F6 (1% 2712 =]
TYN T2 NS GG 100 V (G176 A THST FF1 T O4F FIE0I6 0.5 A (RUN 0T | TR
a7 GEUHA fEFTRITHIT 50 Hz TH ©1F CNEANIGT AGTHFST (impendance) I8 WA
(inductance) '+

1.200Q 448 0.55 H
2.1002 £<98 0.86 H
3.2002 495 1.0H

4,100 9498 0.93 H

Options :

485584157949. 1
485584157950. 2
485584157951. 3
485584157952. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Matech List T with List IT

LISTI LISTII
A | X-rays L |1x10%-3 %103 Hz
B |Microwaves I 1 =10°-3x 101 gz
C. | Radiowaves L1 =108 -5 % 1022 42
D |y-ravs IV |5 = 107 - 10° Hz

Choose the correct answer from the options given below:
1. A-IL. B-IIL. C-1. D-IV
2, A-IIL B-L. C-I1. D-IV
3. A-L B-IIL C-IV. D-III

4. A-IV. B-1IIL, C-II. D-1

Options :

485584157953 1
485584157954.2
485584157955.3
485584157956. 4

Question Number : 944 Question Id : 48558439489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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ST 1 I ST wifeqael 11 <9 T3

SIS 1 SIS 11
A lgF-F L [1=10-3%10° Hz
B. | WIS IL [1%10°—3x 10 Hz
C |@os oa% 1L |1 < 1018 -5 x 1022 Hz
D. |+-(d IV [5 %107 —10° Hz

Choose the correct answer from the options given below:
1. A-IL. B-IIL. C-1. D-IV
2, AL B-L, C-II. D-IV
3. AL B-IL C-IV, D-III

4. A-IV. B-III. C-IT, D-I

Options :

485584157953 1
485584157954.2
485584157955. 3
485584157956. 4

Question Number : 945 Question Id : 48558439490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

An electromagnetic wave going through vaccum is deseribed by E = ESin (kx — wt). B = B,Sin (kx — wt)

then:
1.LE k=B,
2.E,0=Bk
3.E;B,=wk
4 Bo_ @
B, Vk

Options :

485584157957. 1
485584157958. 2
485584157959. 3
485584157960. 4

Question Number : 945 Question Id : 48558439490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key 'Value

Comprehension MCQ




SITFICHF (vaccum) 4T M e 4F0 Etﬂﬁﬂ“,lmfsﬂ'ﬂmd? WE%(F E=E Sin (kx—wt). B=B,Sin
(o — wt) TR I ol 2.

1.LEk=B,w
2.E, =Bk
3.E.B =k
g B JO
B, Vk

Options :

485584157957. 1
485584157958. 2
485584157959. 3
485584157960. 4
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Light 1s travelling from one medium to other medium ag given in the options. In which of the following
options total internal reflection will be possible?

1. Air to water

2

Air to glass
3. Water to glass
4. Glass to water

Options :

485584157961. 1
485584157962. 2
485584157963. 3
485584157964. 4

Question Number : 946 Question Id : 48558439491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584157961. 1
485584157962. 2
485584157963. 3
485584157964. 4

Question Number : 947 Question Id : 48558439492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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A slit of width e 1s illuminated by light of wavelength }. What should be the value of e to obtain the first

T
maximum at an angle of diffraction of —?

X

i

[ ]

o

m‘f}-‘ &] fm|e‘~ ﬁ}ﬂN

oa

Options :

485584157965. 1
485584157966. 2
485584157967. 3
485584157968. 4

Question Number : 947 Question Id : 48558439492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584157965. 1
485584157966. 2
485584157967 3
485584157968. 4
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

In Young's double slit experiment, yellow light of wavelength 640 nm produces fringes of width 0.8 mm. What
will be the fringe width if the light source is replaced by another monochromatic source of wavelength 720 nm
and the separation between the slits is made thrice ?

1. 24 mm
2.2.7mm
3.0.3mm

4, 0.03 mm

Options :

485584157969. 1
485584157970. 2
485584157971. 3
485584157972. 4

Question Number : 948 Question Id : 48558439493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ




EHLTHI GIeT (A5 AT, 640 GNTN SIFHATYTA 260 SICET 0.8 TN 205 W A (fringe)
(ol FH| IM SR SOHAG 720 IFAN SIHATLR W JF(0 ST 59 Bl Ao e =3
38 TRT G aeE N7 T34 I [Swe= T 20 O1F 37 g (W 24f 2% F T2

1. 2.4 mm
2.2.7 mm
3. 0.3 mm

4.0.03 mm

Options :

485584157969. 1
485584157970. 2
485584157971. 3
485584157972 4

Question Number : 949 Question Id : 48558439494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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An astronomical telescope consists of an objective of focal length 50 em and eyepiece of focal length 2 cm i3
focused on the moon so that the final image is formed at the least distance of distinet vision (25 cm).
Assuming angular diameter of moon as (1/2)° at the objective. the angular size of image is:

127"
2. 135
3,12
4, 11.2°

Options :

485584157973. 1
485584157974.2
485584157975. 3
485584157976. 4

Question Number : 949 Question Id : 48558439494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.27°

2: 135
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Options :

485584157973. 1
485584157974.2
485584157975.3
485584157976. 4
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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A spherical air lens of radii Ry =R, =10 em is cut from a glass (u = 1.5) cylinder as shown in figure. Its focal
length is f;. If a liquid of refractive index 2 is filled in the space then the focal length of liquid lens becomes
t;. Caleulate f; and f5. Choose the correct options from the following.

lens

—+—> (ilass

4=1.5

1Lfi=15em.f,= 30em

2

gy=—15em. £, = +30cm
Jfj=—15em.f,=+15cm
4.fi=-30cm.f,=-15cm

Options :

485584157977. 1
485584157978. 2
485584157979. 3
485584157980. 4

Question Number : 950 Question Id : 48558439495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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A1 X 9L O (A0 (LI (RS £2 X0H W] £1 438 £2 5191 Ty | MRS ofF (0
S Aagef oaw F41

lens
s
-~ —-—= Glass
u=1.5
L.fi=15cm. f,= 30 em
2f=—15cm.f,=+30cm
3.fi=—15em. f=+15em

4. fi=—30cm. f,=—-15em

Options :

485584157977. 1
485584157978. 2
485584157979. 3
485584157980. 4

Question Number : 951 Question Id : 48558439496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Linear magnification produced by a murror 1s + 1.5
1. It 15 a coneave mirror with object between F and 2F
2. Tt is a concave mirror with object between F and Pole
3. It 1s a convex mirror with object at infinity

4. It is a convex mirror with object anywhere in front of the mirror.

Options :

485584157981. 1
485584157982.2
485584157983.3
485584157984. 4

Question Number : 951 Question Id : 48558439496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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3. 46 IHIC Seel AT T = (6 IHIG

4. 4% 96 Sael ST TE ST AT (T (HIS G 86|

Options :

485584157981. 1
485584157982.2
485584157983. 3
485584157984. 4
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Comprehension MCQ

The type of wavefront that emerges from a distant light source is -

1. Cylindrical

[ o]

. Plane
3. Diverging spherical
4. Converging spherical

Options :

485584157985. 1
485584157986. 2
485584157987. 3
485584157988. 4

Question Number : 952 Question Id : 48558439497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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HATS! HIETE B8 (AT (T YA SAHT0(Wavefront)
= o1 2 -
1. NIRRT
2. (2
3. (TR fReTew

4, (ORI AEd

Options :
485584157985. 1
485584157986. 2



485584157987. 3
485584157988. 4
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A proton, a deutron. an electron and ®-particle have same energy. Their deBroglie wavelengths are A, 44. 4,

and },. respectively.

Options :

485584157989. 1
485584157990. 2
485584157991. 3
485584157992. 4

Question Number : 953 Question Id : 48558439498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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AH0 (AT, IFI6 (GOEA, IHID EEABEY 92 c-FNF AP2 *&F AT | OITAE (OLII2 OIH A
FATFC Ip, 2d. Je LA hoc , TS IR SR FE-

Lk =hg=hp=1ry

2

D SRR, <D
3 he < =Rg<hy
o he=1hp=hg=lg

Options :

485584157989. 1
485584157990. 2
485584157991. 3
485584157992. 4
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The correct curve between stopping potential (Vo) and intensity of incident radiation (I) at constant frequency
18!

Vo
1:
_
|
Vi
2.
—_—
|
Vo
3
I
\:ﬂ
4.
—_—
I
Options :

485584157993. 1
485584157994. 2
485584157995. 3
485584157996. 4

Question Number : 954 Question Id : 48558439499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Options :

485584157993. 1
485584157994. 2
485584157995. 3
485584157996. 4
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Which of the following statements are correct?

A. Photoelectric current depends on the intensity of light.

B. The stopping potential is directly related to the maximum kinetic energy of electrons emitted which is
dependent on the intensity of incident radiation.

C. Photoelectric emission from a metal surface occurs due to absorption of a photon by an electron.

D. Photoelectric effect follows the law of conservation of energy.

Choose the correct answer from the options given below:
1. A. B and C only
2.B. Cand D only
3.A.CandD only

4. A.B and D only

Options :

485584157997 1
485584157998. 2
485584157999. 3
485584158000. 4

Question Number : 955 Question Id : 48558439500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Options :

485584157997. 1
485584157998. 2
485584157999. 3
485584158000. 4
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What will be the energy released in the fusion process of two lighter nuclei of masses my and mj, into a

nucleus of mass M?

1. [(m; +m,)—M] c?

[

o [M = (my +my)] ¢’

L]

(M =)+ my] ?

bl

4. M+ (my —my)] e”

Options :

485584158001. 1
485584158002. 2
485584158003. 3
485584158004. 4

Question Number : 956 Question Id : 48558439501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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OF m, A9 m, I 16 T (WO AT o AT ©d M 7 [NoEae [Hee *ife o
=2

L. [(m; +m,) —M] c?

[ =]

M - (my + mp)] ¢?

L¥¥)

(M —my)+ my] ?

EES

M+ (my —m13)] ¢’

Options :

485584158001. 1
485584158002. 2
485584158003. 3
485584158004. 4
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Select the correct statement for nuclear foree :
1. strong. short range and charge independent
2. attractive. long range and charge independent
3. strong. attractive and charge dependent

4. strong. short range and repulsive

Options :



485584158005. 1
485584158006. 2
485584158007. 3
485584158008. 4

Question Number : 957 Question Id : 48558439502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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HATINRE *Iferd G AP (9 W6~ I
1. @1, ¥ A7 438 B -4 GofF [Nzl (73
2. SR, A 577 98 B - A7 GO [NSael (W2
3. @I, SHHA 47 B (AR
4, *ife=el, F5 59 432 907

Options :

485584158005. 1
485584158006. 2
485584158007. 3
485584158008. 4

Question Number : 958 Question Id : 48558439503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The energy diagram of hydrogen atom is given below. Arrange the wavelengths corresponding to different
emissions in increasing order.

-0.85¢eV
Ay

V ~15eV
/ A‘I'B / AC

—-34eV

A’!}

/' —13.6¢eV

Lip>htg >k >Ac

(=)

hpThe g Tl

3. }yA = ;'~C = 'i'B > }~D
4h4=kg=ic>lp
Options :
485584158009. 1

485584158010. 2
485584158011. 3



485584158012. 4

Question Number : 958 Question Id : 48558439503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

FRGNGH TN *Ife (53 G (SN AR | [[IGH 5N S 7466 oqH =iE
NI A TFAEANE AG |

~0.85¢eV
v ~1.5eV
) oy K ~34eV
A
/' —13.6eV

1. }‘D > ‘}‘B = }"_f-'i = }‘C

J S T T

I e P e o

A a0 >

Options :

485584158009. 1
485584158010. 2
485584158011. 3
485584158012. 4

Question Number : 959 Question Id : 48558439504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Matech List T with List IT

LISTI LIST 1T
222 218 s

A 86 Rn ? 24 Po 1. |p particle
2l4n: 5 214 )

B. 83 Bi 84 Po I |Fparticle
>'Th —> >'U m1_|oe particle
22 -2 r £

& 11 Na > 10 Na IV. 2B particle

Choose the correct answer from the options given below:
1. A-IL. B-1, C-IV. D-1II
2. A-IIL B-I1. C-IV, D-I
3. AL B-L C-IV, D-II

4. A-I. B-IL. C-IIL D-IV

Options :

485584158013. 1
485584158014. 2
485584158015. 3
485584158016. 4

Question Number : 959 Question Id : 48558439504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
IR 1 .49 T wifer<el 1 43 5w
SIS 1 SIS I
222 218 -
K lee Rt —3 5 PO L |p” particle
% 714
B. 5;4 Bl —— élJ'Po I |Bparticle
PLE] pRE :
o Th — U 11 foc particle
53 bbE -
D. 11 Na —— mNa IV |2fparticle

Choose the correct answer from the options given below:
1. A-IL, B-I, C-IV, D-III
2. AL B-ILL C-IV, D-I
3. A-IIL B-L C-IV. D-II

4. A-L B-IL C-IIL. D-IV

Options :

485584158013. 1
485584158014. 2
485584158015. 3
485584158016. 4



Question Number : 960 Question Id : 48558439505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following statements is NOT correct:
1. Pure silicon doped with a trivalent impurity gives a p-type semiconduction.
2. Majority carriers in an n-type semiconductor are holes.
3. Minority carriers in a p-type semiconductor are electrons.

4, The resistivity of an intrinsic semiconductor decreases with increase of temperature.

Options :

485584158017. 1
485584158018. 2
485584158019. 3
485584158020. 4

Question Number : 960 Question Id : 48558439505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

s RIS e @ 39S 7

1. «if5 e a6 G oiage Srofaers e (oo 1 30, e 4510 (1518 Tl
HfFa=T (AT

G952 (MNP EISIAd ([EeT IR TS|

(]

3. A6 (H-BIEH (TSGR Iad U A2 T ZAPE |

4, SIMNTAT (2 d S AN AF 0 ©IT 215 (MMNFOIEEd AFSTIEEFIS 29 AT

Options :

485584158017. 1
485584158018. 2
485584158019. 3
485584158020. 4

Question Number : 961 Question Id : 48558439506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the logic operation carried out by the following circuit.

el

A o

L .
B{}_l_

1. AND

2. NAND
3.NOT

4. OR

Options :

485584158021. 1
485584158022.2
485584158023. 3
485584158024. 4

Question Number : 961 Question Id : 48558439506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fAmfefis SfEG B AFEI1TS AGE AT T FF |
B o-—{:DD_‘_

1. AND

2. NAND
3.NOT
4. OR

Options :

485584158021. 1
485584158022. 2
485584158023. 3
485584158024. 4

Question Number : 962 Question Id : 48558439507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In the figure potential difference between A and B 1s:

bF Y Sk

8kQ) KO

vy

3.4V
4.8V

Options :

485584158025.
485584158026.
485584158027.
485584158028.

[ S R S R

Question Number : 962 Question Id : 48558439507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
f6afbrs A 498 B 47 W4T ST NIFT 2.

24V /= KO
™~ A
LT
8kQ $kQ
B

1.0V

2.2V

3.4V

4.8V

Options :

485584158025. 1
485584158026. 2
485584158027. 3
485584158028. 4

Question Number : 963 Question Id : 48558439508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key |Value



|Comprehension MCQ

Mateh List T with List IT

LISTI LISTII
A [Zener Diode I. |Detect optical signals
B. [LED II. |Voltage Regulator
C. [Rectifier IT1. |Remote Control
D. [Photo diode W JAC to DC

Choose the correct answer from the options given below:
1. A-L B-IL, C-III, D-IV
2. A-IL B-IV. C-I. D-III
3. AL B-IL. C-IV. D-1

4, A-IL, B-IIL. C-IV. D-I

Options :

485584158029. 1
485584158030. 2
485584158031. 3
485584158032. 4

Question Number : 963 Question Id : 48558439508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
SIfeTBl 1 49 S Sifera! 1 43 5 FaW
SIS 1 SIS 11
) F—— A CEIe HilFS TS FA0D
= ENET pLale bul =
EBEERES
B. [LED 1L =5 HaEe
C. [Feloeenmg | [Fowt stge
D. [l wrars | 1v. |4f otz fah

Choose the correct answer from the options given below:
1. A-L B-II. C-III. D-IV
2. AIIL B-IV. C-L. D-III
3. A-IIL B-I1, C-IV, D-1

4. A-II. B-III. C-IV. D-I

Options :

485584158029. 1
485584158030. 2
485584158031. 3
485584158032. 4

Question Number : 964 Question Id : 48558439509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension [MCQ

The height of a TV tower iz 180 m. To what distance the transmission can be made from this tower. if the

radius of earth is 6.4 x 10% m?
1. 18 km
2.90 km
3. 48 km

4. 64 km

Options :

485584158033. 1
485584158034. 2
485584158035. 3
485584158036. 4

Question Number : 964 Question Id : 48558439509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

IFIG TGS BIeTAA BH@! 180 m | AR T TMH 6.4 x 10° m T, I A% GISTH (ATF T
TAUY LIS Sl T30

1. 18 Y
2. 90 f
3. 48 f
4. 64 ffu

Options :

485584158033. 1
485584158034. 2
485584158035. 3
485584158036. 4

Question Number : 965 Question Id : 48558439510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Matech List T with List IT

LISTI LIST II

Retrieval of information from the carrier

A Modulation I :
wave at the receiver
B [Baseband I Frequency range over which an equipment
" |signals " |operates

m Superimposition of a signal on a high
" |frequency wave

Band of frequencies representing the
original signal

C. |Demodulaton

D. |Bandwidth V.

Choose the correct answer from the options given below:
1. A-IV. B-IIL. C-IL, D-I
2. A-L B-IL. C-IIL. D-IV
3. A-IL B-IIL. C-IV. D-I

4. A-IIL. B-IV. C-1. D-II

Options :

485584158037. 1
485584158038. 2
485584158039. 3
485584158040. 4

Question Number : 965 Question Id : 48558439510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
SIfelBl 1 99 A0 SIeTH 11 47 (e A
ElGEast e
A [N ¢ [FITSITS SIfs O (0 00
ERERIE -
5 [FRTS | [BCICIT ST W GO A |
P PRy TG BE
¢ |emodntaion | m. ] T G5 [ZPLPILT> ORL% 416 |
BT lod ARG
. |51 SRIRrod AfoiEgFEl
D. MIF55EY IV, S

1. A-IV. B-IIIL. C-II. D-1
2. A-L B-II. C-III. D-IV
3. A-IL B-IIL. C-IV. D-I

4. A-IIL B-IV. C-I. D-II

Options :

485584158037. 1
485584158038. 2
485584158039. 3
485584158040. 4

Question Number : 966 Question Id : 48558439511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two point charges q and —3q are kept 12 cm apart. The distance of the point from g on the line between two
charges at which potential due to this system of charges is zero will be :

1.6 ¢cm

2.4 em

[¥¥]

.3em
4.2 em

Options :

485584158041. 1
485584158042. 2
485584158043. 3
485584158044. 4

Question Number : 966 Question Id : 48558439511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

76 AT q 32 -3q HTIGD ATF WATIF (ATF12 (1N FF0g A1 2| 3f0 BIUGd N45st
SFAAIYS q (AT (T ™00 9% 616 TGN SR RO 5T ZE OF 4879 (4% FF4 (q B
C2TF)

1.6 (%
2.4 G
3.3 G
4.2 (1Y

Options :

485584158041. 1
485584158042. 2
485584158043. 3
485584158044. 4

Question Number : 967 Question Id : 48558439512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mobility of electrons

. decreases with increase in potential difference

. increases with merease in potential difference

. does not depend on potential difference

. decreases with decrease in temperature of conductor
. independent to the temperature of conductor

Mg oW

Choose the correct answer from the options given below:
1. A and E only
2.B and E only
3. C and D only

4, C and E only

Options :

485584158045. 1
485584158046. 2
485584158047. 3
485584158048. 4

Question Number : 967 Question Id : 48558439512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

AP HIAA Sifo=terar

A [RG M1LFT Iad S0 J M

B. [Re7 *n(F1 I T I

c. [Teq onefe) Tom Noa FE

D. HHI134 S19rNrar ZeSd [ 21N
E. 3413 sremrag S Rdaer (32

e mem gl (3T 70S Gedlt o3 S
1. ®4 A JTE
2. ®Y B4R E
3.8 C.aR D
4. ®Y C AILE

Options :

485584158045. 1
485584158046. 2
485584158047. 3
485584158048. 4

Question Number : 968 Question Id : 48558439513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The displacement current due to time varying electric field is given by

dog.

e Ty

d

dog
dt

3. Koo

, dox
dt

Options :

485584158049. 1
485584158050. 2
485584158051. 3
485584158052. 4

Question Number : 968 Question Id : 48558439513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

HAH ;1@ oD aaﬁﬁ!\ﬂas (a9 PIECT BRI AR (displacement current)QIF] (ST TH
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=
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132}
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Options :

485584158049. 1
485584158050. 2
485584158051. 3
485584158052. 4

Question Number : 969 Question Id : 48558439514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The graph shows the variation of the magnification (m) produced by a thin lens with image distance (v). The
focal length of the lens is :

m

a &—h=>

i e
a | 8%
s

LT~

oo

Options :

485584158053. 1
485584158054. 2
485584158055. 3
485584158056. 4

Question Number : 969 Question Id : 48558439514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584158053. 1
485584158054. 2
485584158055. 3
485584158056. 4

Question Number : 970 Question Id : 48558439515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT using Bohr's atomic model:

LISTI LIST IT
A [Radius of electron orbit L |directly proportional to 'n®'
B. |Angular momentum of electron | I |directly proportional to 'n’
C. |Velocity of electron 111 hinversely proportional to 'n’
D. [Energy of clectron IV. linversely proportional to 'n

Choose the correct answer from the options given below:
1. A-L B-II. C-TI1. D-IV
2. A-II. B-I. C-IIL. D-IV
3. A-L B-II, C-IV. D-ITI

4. A-IV, B-1I1, C-II. D-I

Options :
485584158057 1
485584158058. 2



485584158059. 3
485584158060. 4

Question Number : 970 Question Id : 48558439515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

(RIERT ANFME P TG ITIRTT BLF OIfeiH] 2 7 L wifeThl 1 4 Fe.

SIS 1 SIS 2
TR PN AT | L [Fasid w2 47 oo
. B ama @ sifer@s] 1 | a9 Y T oies
TR 5T (A1 1L [ 93 ABATOS
EEAT LA *T V. [n? 97 ITEHIoE

Choose the correct answer from the options given below:

Olo|w|=

1. A-L B-II. C-III. D-IV
2. AL B-IL C-IIL D-IV
3. A-L B-IL. C-IV. D-III

4. A-IV. B-1II. C-I1. D-I

Options :

485584158057. 1
485584158058. 2
485584158059. 3
485584158060. 4


Free Hand

Free Hand


